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INSTRUC1lQNSTO CANDIDATES

I, (3) ~tes are allowed!O minutes to fillup the basic information
about themselves in the OMR answer sheet such as Name, Roll No.,
etc.

(b) After this, question booklet will be given to the candidates they are
required to do the following:
(i) Examine the booklet.and to see that all paper seals at the edge of

the bookletareintact. Do no. accept the question booklet if
sticker seals are not intact.

(ii) Tally the number of pages along with no. of questions printed
on cover of the booklet. In case of any discrepancy please get
the booklet cfut~ This should be done within 5 minutes
of receiving the question booklet, after which neither the question
booklet will be replaced nor extra time will be given.

(iii) Check that questioiJ'booklettOtnwns the questions of all relevant
subjecWtopics as required and staled in theM!&! and no repetition
or omission of qustions is evident,

(iv) Afterexamining~cQUe5.lion booklet please enter the Serial No.
df the question booklet It iIie HjIpropriate place in the. answer
sheet and the corresponding Circlesbe darkened with Black ball-
point pen.

(c) Candidates are not permitted to mark iffiswers in the Answer Sheet in
these 15 minutes. Two hours more will be given for marking all the
answers.

2. (a) On page I of Answer Sheet in upper hair portion. write Name of
Exam, Name of Exam Centre and Date of Exam. Put your signatures
also. On the 100~er~alf pot;tion of this page fill in the boxes0of the
first topmost hne m capitalIetters, your surname and name (in
English). Write one letter in eachbox 0 Below each letter darken
with Black ball-point pen the circle0bearing same letter.

(b) On page 2 of Answer Sheet fill in your Roll No.• Set Code, Sr. No. of
Question Booklet etc. by writing in the0 and below it by darkening
corresponding O.

(e) On page 2 of Answer Sheet only the answers to.questions are tobe
marked. The instructions for,this are.available ()I) the back cover page
of this question booklet.

(d) All entries to be made by8blckball-oo\nt oen.
3. Optical Mark Reas\er(OMRj machine prepares the result by reading the

entries made in the circles0with the Black ball-point pen on page I and
2 of the Answer Sheet, hence thecarididate must be extremely careful in
marking these entries and must not commit errors. .

4. Please do not write anything extra except what is asked for.
5. Useof any Calculator, Mobile Phones or any other Electronic Gadgets and

Log Tables etc., is. Strictly '!OhiP~.
6. Rough work should bedone on the blank pages provided after each section

or Subject. Extra paper win not be supplied.
7. Use of Whitener is the O.M.R. answer sheet is not allowed.' In case if it

used, UFMcase will be regisU:re4aml candidature will be.canceuec.
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Time for marking all 100 Questions: 2:00 HoursJ

1~3icfi: '100

IMaximum Marks: 100

Set-A
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1, mllPl~~ 0,' - 30 30
2. fr~31f~ 31 60 30
3. mllPl fu::<ft 61 --70 10
4· mllPl ::>ffi;;ft 71 - 80 10
5. mllPl~ 81 100 20

<im " 100. . '
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NOTE

3.

4.
S.

6.

1. This paper has Five sections, which subjectwise description and division of Questions as follows: -
S.No. Subject Question No. Total Question

1. General Mertlal Ability ~ 01 - 30 3D
2, Teas:hing Aptitude ~ 31 .; 60 ~'

,

30, ". , ,- :'
3, General Hindi 6.1 ~70 • 1()'

4. General English 71 - 80 10

5, General Awareness 81 -100 20

Total 100

This question booklet contains 100 questions numbered from 1 to 100 and each question carries 1 mark. Ail
questions are compulsory. There is no negative marking. ,
Tally the number, of pages along with no. of questiona:winted,oJ1;cQverpage.,qt!l1e. bOQkIIilLAlsQ. gb,eGk'that
question booklet contains the questions of all relevant subjects/topics, as required and stated above and no
repetition or omission of questions is evident.
If any discrepancy is found in the Question Book!et, the same can be replaced with another correct Question
Booklet within first 15 minutes. .
Before answering the questions please read carefully the instructions printed on the back cover page of the
question booklet and strictly follow them. Indicate your answers by blacking circles carefully only on the
O.M.R. Answer Sheet provided.
Use of any type of calculator, mobile phone or any other electronic equipment and log table etc. is strictly
prohibited, -
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12 6 8
3 ,. 2 ?
9 10 5
13 13 13

(A) 11

(C) 01

(8) 10

(D).QO

Find out the number that correctly fil~.,th~figure,

12 6 8
3 2 ?
9 10 5
13 13 13

(A) 11,

(C) 01

(8) 10

(0) 00

~ ~ 1°0°1 ~J
~

(1 ) (2) (3) (4) i I

(A) '(1) , (8) (2)

(C) (3) (0) (4)

Which one of the following figures depicts the relationship of husband, wife and
family?

(1) (4) ~'"

(8) (2)

(0) (4)

(2) (3)

(A) (1)

(C) (3)



m Hyifcfid ~ q;r ~ ~ ~ :

(3 - 15 + 11) x 8 + 6 = ?

(B) -1

(D) 8

(A) 0

(C) 4

If 'x' means division, '-' means multiplication, '+' means addition and '+' means

subtraction, then find out the value for the following data:

(3 - 15 + 11) x 8 + 6=.?

(A) 0 (B) 1

(C) 4 (0)8

(A) fIrnT

(C) ~

(B) ~

(D) ~

Cis father of O. D is daughter of E. E is daughter of F. What is the relationship between

C and F?

(A) Father

. (C) Brother

(B) Father-in-law

(0) Son-in-law

5. ~ mft 6W en) ~ \;ftfll:flCifl(Ol ~ GRT am: ~ ~ ~ ~ "HI1R ~ 0lfcRJ Cfi"{ W m :
~:frT::~: ?

(A) aWsrf'=T

(C) ~:~

(8) ~ .

.-----(P) !HF'1 dI

Choose the correct answer to represent similar relationship .among the given terms

on both sides of the equation :

Health: Itlness : : Pleasure :?

(A) Medicine

(C) Pain

(B) Treatment

(0) Happy

A"';Set

, 11



~ ~ ~ *i41qHOlem '{U ~~~ ~,~~:

ate : tea : : top : ?

(A) opt

(C) tpo

(B) pot
(D) pto

Choose the correct answertocompfete the equation given below:

ate: tea: : top:?

(A) opt

(C) tpo

(B) pot
(D).·pto

7. ~ ~ ~ *i"llCf) ,(01 em"'i<T~' <t ~ ~ ~ em ~ :
13: 5 : : 32: ?

(A) 56

(C) 45

(B) $7•. '-, :.'....,'

(0) 24

Choose the correct number to complete equation given below:

13: 5: : 32: ?
,! ~:, ;

(B) 37(A) 56

(C) 45 (0) . 24

~. ~-qftcm:"B~: ~~I~"'1T11 A, B, C, 0, E o~ F ~I ~m~1R~W~1 B, C "Cfrr-g;;rt"
~ C, B Cfl·~bmrr-;:fflf t" I A o~ C fqqlf~d ~~ IE; C"Cfrr~ t" I D, A C1ft~ t" I F, B"Cfrr~ ;;' J
t" I ~ WCf ~ fr.ti ~ ~ ~ "B "B ~ ~ im -gnl"Cf)) ~ Cfi«fT t" ?'

(A) AE (8) BD

(C) DF (0) AD

A family has six members. Their namesarsA, B, C, D, E and F. They are going for

pilgrimage. B is the son of G but C'isnot:thermother of B. A and C are a married

couple. E is the brother of C. D is the daughter ofA. F is the brother of B. Find out

which of the following answers indicates apatr'offemales?

(A) AE

(C) DF

(8) 8D

(D) AD

A~Set
\ .
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9. ~ ~ 'eR ~ 8 flucl41<!( ~ 3w:nR cmm: ~ "?It r ~ ~, -;fu;r alRcfMJI frIT ~ F:rom ~.m ~
~ ~"frrr 7Jm t I f1:n1: ~ m: alR."?I2 flu2.1412< ~ ..~ ~ 'eR ~ ~ 'CfiR: ~ Tf?lf I

~ ~ fcficR 'eR ~ ~ ~ -qlg <:IT~ (~) ~"frrr WIT ?

(A) 12

(C) 4

(8) 8

(0) 0 ,·f;

A solid cube of each side 8 cms has been painted red, blue and black on pairs of

opposite faces. It is then cut into cubical blocks of each side 2 cms.

H()W many cubes hav~,no fage,painteq ?

(A) 12

.(C) 4

(8) 8

(0) 0

A"'Sef 0-9



10. F1YiFq;d.~-ij~~~% ?~~~:
216,163, .120,72,24

(A) 24 (8) 163
(C) 72 (0) 216
Find out the wrongnurnber included in the fot10wing series:

216,163,120,72,24
(A) 24
(C) 72

(8) 163
(0) 216

11. SATNA ~ -ij ~ 3l~ CliT fcficR ~ "it 6llqF~ ~ ~ "fJCfiffl % ?
(A) 60 (8) 59
(C) 119 (0) 120
In how many ways can the letters of the word SATNA be arranged?
(A) 60 (8) 59
(C) 119 (0) 120

12. F1y;fCf/('1 3ic8it 3 3ic8Cfffft fcmr;ft~3TI efiT f.:rqfur M~"fJCfiffl % ?
1, 2, 3, 4 (f~ 5

~3TI ~ f.:rqfur -ij ~ CliT ~ cn1 ~ %1 % I

(A) 60 (8)· 120
(C) 125 (0) 150
How many numbers of 3 digits can be created with the following digits?

1, 2, 3, 4 and 5 ;
In the numbers to be formed repetition of digits is not allowed.
(A) 60 (8) 120
(C) 125 (0) 150

13. ~ ~ ~ -ij 'kew xas huma deho' efiT ~ ~'CfQ 31fq 1§IJm %', 'kew tepo qua' efiT 3l~ ~

'CfQ~~m~'(f~ 'su lim deho' efiT 3l~~'~.3lm~~' I~~~fc!1~~
'CfQ'(f~'3Wl1'~~~~% ?
(A) xas (f~ deho
(C) kew (f2lT deho

(8) xas (f2lT kew
(0) kew (f2lT xas

In some code language 'kew xas huma deho' means 'she is eating mangos', 'kew
tepo qua' means 'she sells books' and 'su Jirn deho' means 'I· like 'mangos' which
words stand for 'she' and 'mangos' ?
(A) xas and deho
(C) kew and deho

(8) xas and kew
(0) kew and xas

A-Set
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14. ~ ~ CfiT ~ t Iftrnt'tT ~29 R::BkH, 1985 Cfil ~ ~ I ~~ ~cp:rr 'ffi"fu9It ?
(A) 28 r<!O~kH, 1985 (8) 3~, 1986

(C) 2~, 1986 (D) 2~, 1985

Today is Friday. The date of last Monday was 29th December, 1985. Whatistoday's
date?

(A) 28 December, 1985

(C) 2 January, 1986

(8) 3"January, 1986

(D) .2 January, 1985

.,

I~.li~.I~1
(1) (2) (4)

(8) (2)
(D) (4)

(3)

(A) (1)
(C) (3)
Which one of the answer figures will complete the pattern given below?

Answer Figures:

(1) (2) (4)(3)

(A) (1)
(C) (3)

(8) (2)
(D) (4)



2 345

[~lul~I~1
(A) 2 ('f~ 3 (8) 3 ('f~ 5

(0) 2 ('f~ 5

The figure number 1 is embedded in four figures given below. Find out the figures:

2 345

(A) 2 & 3 (8) . 3 & 5

(C) 2 & 4 (0) 2 & 5

G-9· A-Set
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1 : 4: : ? : 64

(A) 65 (8) 80

(C) 14 (0) 16

Find out the missing number that follows the relationship'presenttn the given data:

1 : 4:: ? :64

(A) 65 (8) 80

.(C) 14 (0) 16

(A) clldft9IQ (8) ~

(C) WlR (0) ~.

Find out the one component which is dissimilar from the rest :-

Talking, Walking, Sleeping, Jumping'

(A) Talking (8) .-Walking

(C) .Sleeplnq (0) Jumping

A-Set
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19. ~ cftlTlIT ~ cffi~ ~ -mft ~ ..11 'iU ~ ?

25,28,29,31,28,?

(A) 34

(C) 39

(8) • 25

(0) 36

Which number would correctly complete the series given below?

25,28,29,31,28,?

(A) 34

(C) 39

(8) 25

(0) 36

(i)~~~ C) 13 9 11
II --

13 11 15 15 11 13

(iii) 13 11 9 (iv) 9 11 13-- --
15 13 11 11 13 15

(A) (i) (8) (ii)

(C) (iii) (0) (iv)

Which set of the following sets of numbers is in ascending order?

(i)~~~
13 11 15

(iii) 13 11 9
15 13 11

(A) (i)

(C) (iii)

(ii) 13 ~ .~
15 11 13

(iv) ~ ~ ~
11 13 15

(8) (ii)

(0) (iv)

21. ~~~~-;ffl210, 315, 147o~168cffi~-itcf;fcf~~~, cp.rr~?
(A) 3 (8) . 7.

(C) 21 (0) 44

Which is the largest number that exactly divides 210, 315, 147 and 168 ?

(A) 3 (8) 7

(C) 21 (0) 44

CH·i:EDB/14-page-: 12 A-Set
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22. ~ ~"'l'-ft ~ ~ ~ aJlqf~ .3l~ ~ q;) ~.~ %.~ ~ 31~~.q ..~ %:
CBA HGF MLK ?

(A) WVU

(C) VUW
(8) VWX

(0) TUV

The following is a problem in which you have to find the missing set of trigram which
maintains the principteunderlying the remaining trig rams .~

CBA HGF MLK ?.
(A) WVU

(C) VUW

(8) VWX

(0) TUV

23. ~ qofim?1I ~ ~ ~ 31aroCfl1~ ~~. Gl"'l'-ft%1 ~ ~.~ -q~ t aw:rqft ~ ~ f.:r.rn ..
CfiT~ % am dilqfft!d 3l~ dfiT·~ enBl % :

. .'-- .
ZWSN~A

(A) 0

(C) Y

(8) H

(0) P

The following is a list otsome letters from English alphabets. They are in some order.
You have tofindtne underlying principle and identify the missing fetter:

ZWSN-A

(A) 0

(C) Y

(8) H

(0) P

24. ~~ afR~ ~m:rR fcrom ~alf.q ~ ~ fcf;<.rr I··~~ 7 M~ I «ftll5 fcmfT.~ I
~~zy:ff aW:~ ~ 3 M~I ~~ aW:~ afR3 M~I ~~ afR·~cfi~Cfl1

~~~I

(A) 8 fcI;1:ft
(C) 12 fcf;l:ft

(8) 10 fcf;l:ft
(0) 14 fcf;l:ft

Sudhir and Rahim started walking in opposite directions. Sudhirwalked for 7.'kms.
Rahim walked 5 kms. Suqhir moves to right and continued for 3 ~or,e krns. .,Rahim
moved left and walked 3 kms. Find out the distance between Sudhir and Rahim :.

(A) 8 kms (8) 10 kms

(C) 12 kms (0) 14 kms

A"'Set CHEEf)B/14-page ..•·13 G.-9
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25. ~'IlT ~ fun ~ 80 ~ CfiT ~ W-fi ~ I ~ ~ ~ -awff am:"T1Tflft am:20 ~ ~ fiM

mtt"T1Trft I ~ m 80 ~ (fCfi ~ I am-B ~ zyff am 45° cf; Cfi1uT'R ~ Trft I ~ ~ fu:w
~%~am:~am-B~~m-I
(A) ~-~ (8) Gf&TUT-~

(C) ~-~ (0) Gf&TUT-~

Shubha walked a distance of 80 metres towards North. She then turned to the left and
after walking for another 20 metres she turned to the left again. She walked for another
80 metres. Finally, she turned to the right at an angle of 45°. Find out the direction
towards which she will standing In the end of entire movement.
(A) North-east (8) South-west
(C) North-west (0) South-east

26. ~~-B~mcnT~~A, 8, C, 0 -otlT E%~'BW~·~qrr%~~.~
cf;~ P, Q, Helm T ~ ~ Cffi'ft ~ irq. cnT"'iU CfR"11%1 <:ffi 3"lICI!?4Cfl~ % fu:i q:;p:ft "Cfll ~

Sfi11-B fu:i<.rr~ I P 3 8 1ll1cl1 Cfilll Cfll fc;r;rr ~ ~~B"lfuClK am:~ cnT~ I Q am Cfilll cnT

~ww ~ ~ % I R am CfilllcnT·~ cnT ~ t 'R ~ C <TI0 1ll1cl1 m cnT~ "ffin % I
~. ~ cn1 ~ \'ifAcrr# Cfilll ~ -qm "C:fWIT% I f11'1ifcfld -B 'B 31tAT ~ ~ :

(A) C (8) 0
(C) E (0) ,~~
In anorganizafion five assignments A, 8, C, D.and E each of one day long are to be
completed from Monday to Friday one after the other though not necessarily in the
same order by team members P, Q, Rand T. Pundertakes assignment 8 but not on
Thursday or Friday. Q undertakes the assignmenton Wednesday. R undertakes the
assignment on Monday but does not take assignment C or O. You have to find out the
assignment undertaken on Monday. Choose your answer from the following:
(A) C (8) D
(C) E (0) . Insufficient data

16,36,64
(A) 25, 49, 121
(C) 9,81,169

(8) 16, 100, 256
(O) 4,9,144

Find out the set which is similar to the one given below:,
16,36,64

(A)
(C)

25,49,12-1
9,81,169

(8) 16, 100,256
(0) 4,9,144

A-Set
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9 20 42 21
(A) 20
(C) 42

(8) 21
(D) 9

Find out the number which is different from the remaining three:
9 20 42 21

(A) 20
(C) 42

29. f~1OO1r(1r@(1~ if it m ~ iT .W'1T1 ~ ?
';Jf.1'Slft 1:fiTCIit J1,(11i fu-.q~

(8) 21
(D) 9

(A) ~

(C) ~
(8) ~
(0) f;.';;14R.p

Which one of the following months does not belong to the group?
January February July December

(A) January (8) February
(C) July (D) December

(A) 30
(C) 40

(8) 24
(D) 48

Find out the number that correctly fills the figure:

(A) 30
(C) 40

(8) 24
(D) 48

,_i
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31. ~ ~ ~ ~ "OOl ~ ~ m&n ~ ¥t\i?'lIiCfl1~ ~ <"161£1(11CfiB Cfi1 3ljU~ Cfi«fI ~ :

(A) 3Wl {411<;Rl -B ~--,!ff{1,CflI Cfi1 'ii?'lliCfl1m
(8) ~ CfQ"OOl ~ m ~ m <iT~ ~ ~ ~"0 flmi:r CfQ'l"m m ~
(C) 3Wl "3B ~ cn1~ fen 3Wl ~ ~ ~ "ID21 ~ ~ Cfl{ ~

(D) "3B"OOl cn1~ CfiB ~ ful:{ Cfj}§ ~ ercT ~
An acquaintance approaches you with a request to favor a student during evaluation
of a written test:
(A) You will evaluate the answer sheet honestly
(8) You will gi'(,~the student some extra marks if he is failing so that he may pass
(C) Tell the person you cannot be dishonest to your profession
(D) Deduct some marks in order to punish the student

32. am ~ Cfi1"5f~l1l'tw:f ~ m§O ~ ~ :

(A) 3Wl ~ f.lct:;c ~~ ~nrm:t 3Wl ~f1Cfl2cil >rf"C<f Cfl{ ~

(8) 3Wl ~ ~ cn1m ~ CfiP.lT ~. ~ fPli&qlRd~

(C) ~~1:RUJR~~3ffi~~~·~cnft~
(D) B6Cflf44~iCfi1~$f3W<l m nrm:t"5f~ cn1~ -B-w ~ ~ ful:{ ~ fcn<;rr \;fT ~

The Principal of your school is a hard task master. You will :
(A) Develop close association with him so that you can seek favors
(8) Perform your duties as per your assignment
(C) Ignore his orders and do what you like
(D) Se,ek the support of colleagues so that the Principal is forced to become lenient

33. ~ fuaJUT ~ "ID21-"ID21 ~ 3fu: itt-fuaJUT"CfiTlfm \3lffi t~:
(A) 3Wl ~ CfiB -B "fRT Cfl{ ~ cpiffcn ~ ~ fuaJUT ~ ful:{ ~ ~ ~
(8) am- fuaJUT ~ "ID21 ~ ~ .~

(C) .~~cn1m~~~~"lfQ~:~-B~~~~~
(D) 3Wl ~ f.rf<l ~ -B ~
You are assigned some non-acacemic duties along with teaching. You will :
(A) Refuse to do these as you have been recruited for teaching
(8) Take interest in these along with your teaching
(C) Give these duties more importance as they have been assigned specifically

to you
(D) Do themina-foutlne matter



34. f.fJ:;f it it 3ijCh",<'1'i cnl: ~~Iqctl ;:pff % ?

(A) ~f<5c'1ctl

(C) WwIT
(8) "ffiG'lrfu
(D) ({Chf1 G\3ctI

Among the following which characteristic is related to adaptability?
(A) Tolerance (8) / Empathy
(C) Diligence (D) Single mindedness

35. ~-TTfi:fq;- 'Rf<5LO!ctl ~ mID t~ ~ c;qfcffi :

(A) ~m '~:r:ncfiT"@+IR~ t
(C) -r-r'lfr c,.TI1T cfiTW1R l1ROT %

(8) fcfim '1ft 'em it Fq =\Icm=! ~ B§fffi

(D) rn it ~llfcfiT~ ~ % . "
Religious tolerance is apparent when a person:
(A) Pays respect to all religions
(8) Does not believe in any religion
(C) Believes that all religions are the same
(D) Pays respect to his own religion

~~ . * ~:$r.- , ~ -.!+ *36. 3ift1i3fil ~ TTH=\'\Ch:J:""1lO"l.;.t" Iq-nl'-! 'BCfiC Cfi1 "BP1'i1 ~ TIn (> V11', .3Tf"=R1 Iq-nl'-! ~ q)1 ~ ~ 'Cfi«IT Q :

(A) 311'-1 -~Brf ~ ~
(8) ~r:rnR1 ~

(C) ~ ~3A ~\,\"hj:n~ ~ ;:;f; ~ W::m: m m 31JT.T"3ir ~ ~ tit
(D) "3Bc;qfcffi c6~ cfiTrn ~ ~..$-li c6~.q it ~ ~ ~ ~ ~
A colleague is facing a financial crisis and approaches you for financial help. You
will :
(A) Give him full support
(B) Make an excuse
(C) Give him partial support if some other colleague is also ready to help
(D) Weigh the request in terms of your relationship with the person and decide

.37. -:m"(WT 3ijCf)J(1ct t ~~~:
(A) "1~
(C) ~lcHI\LJCh ~ it qf::;LJH

People who are adaptable are:
(A) Intelligent
(C) Emotionally intelligent

(8) 'RILJlf81q; ~ it ~fO&ql'i

(0) a:rrv.;'OjIn-LJq;)~ it ~f~ql1

(8) Socially intelligent
(0) Spiritually intelligent
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38. ~ fua:TCfi"~ l1T~'~ ct -m;ff -q ~ -q f6 «1fcR:i11 I ~ cmurr q;). q$'q1111 ~ % I ~

f1t:1fC1f~d -q ~ ~ 'R 3l~ Cfi8T ~ ?
(A) • .~ \lll ~ ~ -q ~ ~
(8) ~\lll~.~~~~

(C) ~~~1Rl!$-q~~~

(D) Wf\1ll~~~~~~~~~~-q~~

A teacher wishes to identify the causes of dyslexia in English among students of a

Hindi medium school. He shquld conductthe study on :

(A) Students Who are poor in reading English

(8) Students who are poor in reading Hindi

(C) Students who have failed in the annual examination

(0) Students who are good in reading Hindi but poor in reading English

39. olW:tfll~Cfi l4l1fG:(f'1-m;ff q;) ~ >rGR fcFi<;rr \ifAT ~ ?
(A) GWff· CJi!$ct ~
(8) 31TOcff CJi!$~ ~

(C) m~w~
(0) ~ "ctiW ~ q{Il4~f~ldl ct 1ffi1 ~
Vocational Guidance should be provided to students:

(A) After 10th standard

(8) After 8th standard

(C) From the primary level

(0) When a student approaches a counselor

40. ~"a:rr~. ~ fq'qRCfi ct ~r"~ fu!$ ~.~ CfiW %or ~Cf?:fT ~1f4Cfidl 3lR
3m:qf.p:j"o(~~~q;)~t"? .

(A) ~ (8) ~

(C) ~ (0) . fq~CfiH~

According to which modern Indian thinker, "True Education .removes ignorance and
increases knowledge and spiritual values like religiosity andselt-control" ?
(A) Dayanand (8) Aurobindo

(C) Taqore (0) Vive'kananda;'"
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1. ~ it ~ maJr Cfl1l{1~fRl ~ Cfl1 ~ fc4lil6ftll ~ % ?
(A) CfiaJr ~ ~ ~ it ~
(8) W'mf ~ Cfl1CfiaJr (3 it 6 crtf)

(C) ~ Clil ~ ~ ~ fu"Q: CfiQif14i,7ftffi, ~, ~all CfiT-m CfiVn

(0) cfR' am' ~ ma.1UT ~ fu"Q: dq~~II\'ICfi ~

Which of the following is not a characteristic of the Montessori method of education?
(A) Freedom of movement in class
(8) Mix age classrooms (3 to 6 years)
(C) Use of stories, songs, drama, poetry for stimulating imagination
(0) Didactic exercises for teaching 3 R's

2. ~ ~ am ~1I{lRCfi fcrct:i"rfr ~ ~ ~ "Riftm % :
(A) ma:fCfi" Clil-m f.qfCflffiCfi ~ 1ffi1.~ ~ ~

(8) ~ <:JT~ mql Cfl1~ "CfiT ~ ~ ~

(C) fcr:nm Cfl1 ~ ~ &lffil' Id l:ffi~ Cfi1~ '8'1$111 ~

(0) ~1R~~~~

An adolescent is worried about his physical growth. The teacher should:

(A) Refer him to a Doctor

(8) Suggest exercises or nutritional supplements

(C) Explain individual differences in growth processes

(0) Ignore the student

~ ~ it ~ 'Wbr ~' "CfiT 'ffi'lf ~ l ?
(A) ~ ~ 3TIV.m:1R ~ ~ 'R9(f c;l'ffCfi{1J1Clil "Cfil1cnmr t-
(8) '81'1\f\3lCfi ~ Cfil1 ~ ~ %
(C) Slfd41rldl Cfl1 ~ Clil Cfj'q ~ ~ %
(0) ~ am: d1Iq~CR1~ Cfi1~m >I'GFrCfj'{ffi %
Which of the following is not an advantage of grading system?

(A) Minimizes misclassification of students. on the basis of marks
(8) Reduces societal pressure .

(C) Reduction in spirit of competition

(0) Facilitates joyful and stress free learning

I·
I
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44. f.fl:::r-q~~'~~'%?

(A) ~1Jfu~
(C) J4HffiCfl ~ ~ ~

(8) !i1l{lRCfl~ ~ fqCflMi~1

(D) ~m1l~~
Among the following who is exceptional child?
(A) Intellectually gifted (8) Physically disabled
(C) Mentally retarded (D) All three are exceptional

a "

45. fua.n ~ «R q;l ~ m~~ CR=IT~ \iIRT ~ ?
(A) 41~4StiJ4 CfiT~~ (8) S/~llkJ4CfI CfiTl11:R 3lf~ ~
(C) ~ 3l~ mff -.:ftfu (D) ~"CflT ~ am: ~ i~iCfl1

What should be done to elevate the standard of Education?
(A) Revision of syllabus
(8) More emphasis on practical work
(C) Stringent teacher recruitment policy
(0) Continuous and comprehensive evaluation of the students

46. f.fl:::r ~ ~ CR=ITcn$ ~ BCflRlf4Cfl qlOlq{OI ~ f.;I:rfur-q '8~14<:fl ~ •.mm· ?
(A) mm q;l ~ qft Blf'lMdl *~ SlI<rifiICfl~
(8) ammmtffi<m~
(C) ~"CflT aij)4lilJ,
(D) BCflRlf4Cfl ~ q;) ~"Cfi{1T

Among the following whidhwill not help to create a positive classroom environment ?
(A) Making learning relevant to the success of students
(8) Understanding of code of conduct
(C) Disuse of punishment
(D) Reinforcing positive behaviours '.,

47. cnf$- fu~ ~ "5f'llTCJ -q ~~ ~ ~ ~ ~ fuarcn q;) :
(A) fcrtir:r. ~ ~ ~ ~ -q \iffJl~Cfl W1T ~

(8) ~ qft Slfdfsfl41an "CflTfq~2tqoi "Cfi{1T~

(C) ~~41~4StiJ4-q~mr~
(0) 31l~. B$ctiffl'~I:~~~~

For improving effectiveness of classroom teaching, a teacher should:
(A) Stay abreast with development insublect of study
(8) Analyze responses of students
(C) Attend training courses
{D) Seek advice .oJexperiencedcolleagues
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8. f.p:;:r if ~ ~ ~ >J'l-TTCft m~ Cfft ~ ~ fCl:fl6ldl% ?
(A) m§ij 3i j/? 11'8Cfl

(8) ~m~m
(C) fll411f1 tS(3

(0) ~ &lfcR1C'C1

Which of the following is an appropriate characteristic of an effective teacher?
(A) Strict disciplinarian
(8) Continuous teamer
(C) Punctual
(0) Charming personality

9. >n~~~ ~"".,..:iicnl·'·~ ~ 'qT15[Tif ff1@lll 'lfRT~~ :

(A) ~~~ 3ffilR~~%

(8) ~ Cfft ~ 'qT15[Tif ~ ~f111ICii ~1~lqffi mID % .,
(C) ~ !II1'flmCflqldlq<OI if ~ if ~ cnl~ ~~ ..

(0) ~ aTI'tfcFi 3i1\l4fCl~qlfl ~ 'Cfi"@ ~

. Primary school children should be taught in their regional language because:
(A) It makes learning easy
(8) Children have a basicvocabulary of regional words
(C) Helps children in learning in a natural environment
(0) Children feel more confident

O. f.p:;:r if "fT ~ 31~ ~ ~ Cfft ~ ~ ~ ~ fCfllhlllffi. ~ % ?
(A) ~. Cfl4:q1~1cn1Wmrr ~"ctl«f[%

(8) CflPt"WP1 ~ 3i1Ul4~llfCfl %
(C) ~~~m%
(0) ~ ~ ~ m?T ~ IdT:.ild~ ~ rx:rFcRr 411fflCh ~ ~ ~ "<mlT %
Which of the'folrowingis'the most parsimonious reason for preference of teaching

- pr6fessioht?'i ..

(A) It provides stability to the employee
(8) The working time schedule is comfortable
(C) It is a noble protesston,
(0) Interacting with:youngpeople keeps a person mentally agile
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51. ~~~~,~fu?;1Cfl~:
(A) ri~~Cfft~CfiBT~
(B) 9>~CfiI(1lf if ~ ~ "lIT~ ~ ~

(C) fu~ ~ ~- tfi?:r if 3lRfl1 ~ ~

(D) ~ ~ tre:R. -ij Cfim(f ~ ~

During at-fee perioda teacher should:
(A) Check homework of the students
(B) Visit the~brary and read newspaper or magazine
(C) Relax in the teachers' common room
(D) Workout in the playground

52. f.ft;r if it fcfiwf; &m ~if filqrfJiCfi ~ CfiTfCjCfifBC1~ \ffl ~ t ?
(A) '319-~~~if~~~~mn
(B) ~-~~ -t ~ .~ ~ fqm'ur &m

(C) '8lqlf~Cfi mCfiTCfi8 q:)T 3TClm >RR ~

(D) ~ '8lqifJiCfi ~ en: ~ sm
Among the folltowingthrough which social values may be developed within the
students?
(A) By exhibiting these values within the teachers behaviour
(B) 8y describing life characters of social reforms
(C) By providing opportunities for community work
(D) 8y discussion on relevant social issues

53. ~"Olf'fcRf CfiTfua:rcrr if ~ t~ ~ fu~ qfr ~ mt<l Cfi8 if 3T'811?f t I ~ :
(A) coW 3lh: ~ Cf){ "ff.:ft ~
(B) 'l;f{en: ~ ~ ~'ll ~~ ~ ~

(C) fcfim 3A mu if ~ qlQ.qSf)q if ~ ~ 'ff.:rr ~
(0)'. ~~.~;~~. ~.~1fi:Rq~i'[q)'l;f{"Y1: ~~~

A person has interest in teaching but is unable to g~t a job of ateacher. He should:
(A) Take up some other job
(8) Start giving tuitions at home
(C) Admission to higher courses in some other stream
(D) Remainlat home until he gets· a job as per his interest

;:'~B/14-page-27 'G.,9A~fiet
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4. 9)H4iI{ 3l?lClT ~"31 ~ ~ 4Ilf~~f1 "B >r'l:fTCfi"1"@t~:
(A) ~~~mtcf~ (8) ~~~mtcf~
(C) IcFf.i1dl ~ m~ (0) ~ ~ ~
Reward or Punishment is not effectivain guiding students who are:
(A) Externally motivated (8) Internally motivated
(C) Fear failure (0) Independent students

5. Cfi!$ if ~ qft -me CfiT ~ M \3fRT ~ :

(A) ~ (~) ~ 3TI~ tf{ (8) ~ ~ ~ ftI4!f\llCf) ~lt ~ 3TI~ 'R

(C) 4l1fflCf) ~ ~ 3TI~ 'R (0) mrr ~ 3TI~ tR

Allocation of seat to students in the class should be made on the basis of :
(A) Height. (8) Social relations among the students
(C) Mental level (0) Gender

6. CfilID"B~~~~~~~~CfiT~~m1CfiT~t?
(A) ~ 'Cf)) 'h 2:<'*)1 { Cfi1:

(8) ~ cfi" l1ffiT- fi:rnT <it ~ ~"B \JI11Cf)Rl~

(C) ~ qft CfilIDcfi" ~ ~ CfYlID"B~ m'tl fffi§R 'Cf)) ~

(0) Cfi~ qft "ift31CIT'tlcfi" ~ m "B~ m -Chl ~

Which of the following is the best way of dealing with behavioural problem of a student
in the classroom?
(A) Reprimand the student
(8) Report the matter to his parents
(C) Ask him to remain in the classroom and write an essay during the games period
(0) Ask him to stand in a corner of the classroom during the entire period

7. ~1I~1RCfl~CfiTrlTf"1"@~~~~~:

(A) ~ <it ~1I~1RCfl-me q~+.!~ t
(8) ~~m~
(C) ~.w:R lfRfT- fi:rnT 'Cf)) ~ ~"B IJjHCf) Rl ~ ~ t
(0) ~CfiT3lWt--~>r~m~

Corporal punishmentsho'uld not be used as:
(A) It may result in physical injury to the student
(8) Student will become obstinate
(C) Student may rep6rtthematter to hlsparsnts
(0) Self-esteem of the stuelent wtll be hurt
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58. f.IT;r -ij ~ ~ rCf~lt5ial ~ ~ oqf<Rttc4 ~ c6..~ ~lq,,?4<:fl ~l ?
(A) {IOi11G1<1
(8) ~1ii11<:fllfh11

(C) ~
(D) "WflJ ~

Among the following which trait is not important for the personality development of
the students?
(A) Honesty
(8) Obedience
(C) Laziness
(D) Punctuality

59. "4fu: ~ ~ Cfll$ -ij ~ ~ ~ t- ~ Cfll$ -ij fc:r;m: - ~ q1 fcr;p;r ~ ~ .~ t- m ~ -ij
'Marcfi q;) :

(A) W ~ Cf)T-aw "1"tft.=rr ~
(8) "4fu: a:p:r ~ 'lftw~ Cf)T-aw \llFRT ~ ~ m ~. t.=rr ~
(C) ~ Cfll$ ~ ~ ~ £Q: ~ q;) Lfl2<:flIFli ~

(D) CflI$~~~Cf)T-aw~~

If a student asks a question in the class which is not related to the topic being
discussed, sOtheteacher should:
(A) Not answer the question
(8) Answer the question if other students also want to know the answer
(C) Consider it as a disturbance and reprimand the student
(D) Answer the question after the class

60. "4fu: 3Tftf ~ ~ ~ ~ ~ q;) ~.~ :~W 0Gf awl :
(A) ~ q;) ~ ~ q;) ~ q;) ~ ~ ~ IOi~~'idi -:.m t-
(8) ~-~-ij~w~<it~f;ffi~m~"#f
(C) ~ qftf;o f1~Cfi4f ~ W ~ CfilCflI$CP)~ ~.~ ~

(D) ~a:p:r~~~~31~~3fu:~~~CflI$~.~

If you are unable to comprehend a part of a topic, you ~ill :
(A) Ask the students to leave.as it is not i~portant
(8) Read it from the text-book so that the stedents can understand it themselves
(C) Ask a senior colleague to explain it to the elass
(D) Study it from some other books and understand it before teaching ilin the class
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I Sj4Qtl< I if fc1:icR~ ~ ?

(A) ~

(8) GT

(C) ~

(0) -;:m:

• I 31lFf' ~ 4lilliql=ci'l ~ ~ :

(A) ~,"tfIR1, a:tljdlh{1, 3'Pft
(8) aw, ~-T, m.:r, ~
(C) am,~, 'W!R. ~

(0) ~m,~,~, w:ft,~

• f1JOr1f(.1f@H1 ~ ~ cqrm ~ ~ ~ % ?

(A) ~

(8). W
(C) ~

(0) lfu3r
.
I,

~ ~ {HCflRl -q?f, q1llil{1li ~ 'liT ~ ~ m21 aRcfi ~tijR14f-qft ~ ~ -m m, m ~ cp:n Cfim

\3lffiT t ?

(A) a:tj)f"I Rq1

(8) -qftq-;r

(C) ~

(0) ~~

• ~ ~ fef) ffcfi) ~ - -q?f .qr CfitT \3lffiT t ?

(A) SlfC1~G1

(8) 1tsql q11 '

(C) a:tlf"1Rq1

(0) aTI~
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66. 'm -q ~ ~' ~ Cf)T31~.ft":
(A) ~~
(8) cm'RRT

(C) ~-r~
(0) .~~

67. ~CfiT~#~~t:

(A) ~~Cf)T~~~-q~~tl

(8) ~~t~~~-q~~Cf)T1

(C) ~~~-q~~Cf)l~~tl

(0) ~~~-q~~t~\lRCfftCf)T1

68. ~ ~ ~ -r "fCfU -q ~ ~ t -r~ -q ~ mcnl W-Tfu"fCfU am ~ ~ <ifrq CfiTt~,
cp:rr cnm ~ t ?

(A) 3l1~lfuq:;

(8) 3l41IIClIQ

(C) 3Rf:~

(D) ~

(A) ~.

(8) ;fl(1 q:; '"1(1

(C) ?i~

(0) {'PIIjCR1

70. Hklf<1fulia -q ~ cffi";:ft ~t ?

(A) 3RTf~, 3Wf11ft,~ 3lfu~

(8) 3Fff~, 31l"ITlfi,~ 31fuf'?i

(C) 311lf~, 3WTTlft,~ ~?i

(0) 3Fff~, 3WTTlft,~,31fuf'?i
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Hurry up , Everybody for you.

(A) waits

(8) waiting

(C) wait

(0) waited

• The people will make hirl'l President:

(A) President will be made by the people.

(8) He will be made President by the people.

(C) He will have been made President by the people.

(0) President will pe made him by the people.

3. Idon't think I be able to go.

(A) can

(8) shail

(C) should

(0) may

4. Theyhaven't come yet, ?
(A) has they

(8) hasn't they

(C) haven't they

(0) have they

S'~ The country is divided : six regions.

(A) in

(8) to

(C) into

(0) from
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76. The doctor the woman,ttwl.t her son would recover,

I
f

·1
l
I
r

...
I

(A) ensured

(8) assured

(C) insured
(0) promised

77. I......................your proposal.

(A) except

(8) expect

(C) accept

(0) aspect ~

. .
78. Combine the following sentences to.make it a compound:

He threw the stone.

It missed the dog.

(A) He threw the stone but it missed the dog.

(8) He threw the stone and it missed the dog.

(C) He threw the stone yet it missed the dog.

(0) He threw the stone still it missed the dog. ~

• 79. The film is about a spy .............. wife betrays him ..(

(A) who,

(8) whom t
l
!

(C) whose

f(0) that
i
!

80. The news is too good to be true:

(A) The news is very good to be true.

(8) The news is good it is to be true.

CHEED,Q/14 Rifi. " ••37
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(C) , The news is so good to be true.

(0) The news is so good that it cannot be true.
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1. aw:r ~ W (AAP) cnT "mcfiR ~ :

(A) ~~

(8) ~ ~

(C) ~~

(D) ~~~ arf~
. The Aam Aadmi Party (AAP) ran government for :

(A) One month
(8) Two months
(C) One and half months
(0) More than one and half months

) ... '. - '. -2. '\ ,I;
2. SlI4~414 ~1.fiTalfu~~,·~Cfi~I91tml~f>cJ.,;~1tt~?

(A) ~~~~if
(8) ~'i-.Zf~~~~if

(C) ~~~~~if
(0) ~'i-.Zf~~~·if

The Southernmost pointol peninsular India,thC,!.tis Kanyakumari, is on:

(A) North of Tropic of Carjeer

(8) South of Equator
(C) South of Capricorn
(0) North of Equator

. f1'"'1fMfuJctif ~ ~ if ~ ~ fcfi<:rr \lfffiT t ?
(A) P"lFMCfiT1
(8) ~
(C) oqRChlM

(0) 4iTflhl'l'8

Which of the. following is used in Pencils ?
(A) Silicon
(8) Graphite
(C) Charcoal
(0) Phosphorous
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84. ~-ij~~qft~~~~tR~.?

(A) ~
(8) ~
(C) -qc;:rr
(D) (Yi@l1$

The worldtaJlest st~tue of Mahatma Gandhijiis in :
(A) Mumbai
(8) Ranchi
(C) Patna
(D) Lucknow

85. ~ft:Rnt~ ~~~~~ ?
(A) ~
(8) ~
(C) ~q1SJf~

(D) CfilJ q1SJf~

Drip irrigation is useful in which region ?
(A) Dry
(8) Humid
(C) High rainfall
(D) Less rainfall

86. ~ CfiT fcrnm ~ qrffi ~ ~ ~~6jOlcfHlf ~ t ?
(A) ~~
(8) ~~
(C) rI1~41~
(D) ~3lT~

. What is the name of the seismologist who invented the scale used to measure the
magnitude of earthquakes? ,'"
(A) HiramWalker
(8) Charles Richter
(C) Giuseppe Mercalli
(D) Joshua Rumble



(A) ~Osl¥Of'H
(8) cpsfi rmuil

(C) 'Hfc!liRO
(0) ~am Cfi'ftf"B

The type of writ petition described as best assurance for Human Iibe rfy :

(A) Mandamus

(8) Quo Warranto
(C) Certiorari

(0) Habeus Corpus

~ rn ~>rffiq;CfiT. fcr<m ~ ~ ?

(A) \Pi Cf111R

(8) ~ Cf111R

(C) ~ Cf111R

(0) ~ Cf111R

The symbol of Indian Rupee was conceptualised by:

(A) Ram Kumar
(8) Kiran Kumar

(C) Udaya Kumar
(0) Vijay Kumar

• ~Cfft~~~-q~\3fTffi%?
(A) limfJ-q
(8) ~~-q
(C) ~-q
(0) 1'ffl:fm -q
Rabi crops are grown in which season?
(A) Monsoon
(8) Spring
(C) Winter

(0) Summer
'~''o ..,i.q''''',''''''.'-'~.'''_'''''''''~J-'''','''·'·''''. _" ..,..•...•.....••
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90. 3TI~ -;:ff;r-~ ~6R (f2lT ~<AfCt;:Cf)aw:rvJ'tR Fcfl~Cf'>l ~ ~ mmt" ?
(A) 2~1Cf'>')2

(B) m
(C) q'ff<1Q>RO<

(0) ~

The coating on modern non-stick cookware and electric iron is of :
(A) Terrycot
(B) Rayon
(C) Polyester
(0) Teflon

91. At:1f<1RB1d"# ~ Cfi2R TR9Cf t- ?
(A) Clldlc:HOI q1 ~ 'l:J1lT "# ~ 'Cf'>l ~ ~ q1m 16fi·{iHt;lllCf) trm t
(B) ~ CR ~ ~ lij;ff "# fcR;:fR m~ ~
(C) ~ ~ SlI'tlfctCf) ~ t-
(0) 1iA~,;r'qJCf ~ SlI'tlrnCf) ~ t-
Which one of the following is a wrong statement?
(A) Ozone in upper part of atmosphere is harmful to animals
(B) Most of the forests have been lost in tropical areas
(C) Eutrophication is natural phenomena
(0) Green house effect is a natural phenomena

,..

. (
92. ~ ~ em 4~:€IiAQ> :

(A) ~ Cf);:cl:(101 ' ¢41111f.sClfff2.1Cf);;Jj&~11

(8) Cf<ftiT ililcfi)('I \51('1C1IY>4Rctd'1

(C) 4ffO~ll('l si)ilCf'>1('1 ~ crrfl:frT
(0) ~ Cf)~:(I'1 ~~~

IdenUfythe correctly matched pair:
(A) Basal convention Blodiversltyconservation
(B) Kyoto protocol Climate change
(C) Montreal Protocol Global warming
(0) Ramson Convention Ground water pollution



93. ~ q)ffi ~ qft q;ffi % ?

(A) 3'tHi@liS (8) ~

(C) ~mr (0) f(;I1I'q(1 ~

Aipan is an art from:

(A) Uttarakhand (8) Assam

(C) Uttar Pradesh (0) Himachal Pradesh .

(A) Cfi1Tcttl

(C) 31r~mr
(8) aftlC'1111

(0) ern;
The voice raised by the activist P. Sreermulu, for the demand of the following State

initiated the constitution of State Re-organisation Commission:

(A) Karnataka (8) Tamil Nadu

(C) Andhra Pradesh (0) Kerala

95. ~ ~ awiTrr"Cfil flcfTqi"{ ("5f~). ~ t ?

(A) ~ 1f1it (8) fl~·~
(C) ~ -qr~ (0) "ffit ~

Who headed the Indian Law Commission?

(A) Tomas Monroe

(C) Robert Palk

(8) Jonathan Duncan

(D) Lord Macaulay

96. ~ ~ if <1IS(}ll!dlqft ~ CiiT ~~ ~ ct lR if ~ ~ ?

(A) ~ u~ ~ (5) 'qf«f~R 31f~

(C) 'qffif ~ ~1~C'11 (D) -ru-~~
Which one of the following lis·ted below was the one which first instilled the feeling of

nationalism all over the country ?

(A) Indian National Congre,ss

(C) Quit India Movement',·

(8) GovernmenfoUndiaAct

(D) Sepoy Mutiny'
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97. R&01F<1f(§Jd ~ ~ ~ W ~ cqmr if~~alf~q1 ~.'Cfft Wurr ~"e.T ~ ?

(A) 111$2:'5 fchJI'514 (BY- '!:~. -0:.
(C) ~ (0) 3i1f?;ff?1l1l

The development of Constitutional Right in India was not inspired from which one
of the following countries?
(A) U.K. (United Kingdom) (8) USA (United States of America)
(C) France (0) Australia

98. ~&1cfi ~ ~ fl14!'1dl CfiTm~ R'"'1f<1f(§Jd ~. ~ ~ ~ ~ fe:<:rr7p:ff % ?

(A) ~ 28 (8) ~. 29

(C) ~ 30 (0) ~;45
Which of the following artisles provides equality.o] opportunity in educational
institutions?

(A) Article 28 (8) Article 29

(C) Article 30 (0) Article 45

-99. ~'hll{lq 01 dCfl;f\Cfl ~ 1fimYf ~ ~ ~ % ?

(A) ~ (8) Tr(
(C) ~ (0) 31R't

Seed plant technique is followed in :

(A) Paddy (8) Wheat

(C) 8ajra (0) Potato

100. ~~~~CfiT~~~t ?
(A) H(C;qol

(C) ~ HlIO?IOI

(8) M~-f.:!mur
(0) ~

Generally a Parliament do not haveone of the following functions:

(A) Representation
(C) Parliamentary control

(8) Legislation

(0) Administration

CHES08/14-Jlilge..45
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SEAL

INSTRUCTIONS REGARDING METHOD
Of..ANSWERING QUESTIONS

(please use Black ball-point Pen)

. 1. Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMRAnswer Sheet
against that question.

2. Valuation Procedure:

There are four probable answers to a question,
only one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall he
awarded.

3. Cancellation or Change in Answer:

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it onOMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the answer
sheet are filled up propeHy i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

5. Care in Handling the Answer Sheet:

While using answer sheet ad~quate care lhould
be taken not to tear or spoil due to f~ds or
wrinkles and the impression does not come
behind the Answer sheet.

~ Black ball-point..r.rqrr ~q;t)

1. ~ ~ qrr mlcnr :
~{~ cfi full: OMR -aw-~.q ~ ~ cf;
~ fuit 7Tit-.:m: TjR;ff .q ~ ~ 'Q,Cll~ CfiT "iU Cfil"ffi
~I ~

~~ cf;-.:m:~~~ t~~~'Q,Cll~

mit ~ I ~ Cfinm -aw ~ <m-~~ 3#; W{f

WIT I ~'Q,Cll~ 31f~~~~~~m~1Wn

~ fen 11fta;nm<m~ CfiImft -aw ~ -;@ % 3lil:

~ CfiT{ 3fq; -,m ~ ~ I

3. "3ffi" C1iT f.m:<:r cnrn f:fT ~ :

~ ~"lIT f-Rm"ifiB cf;m~ ~ -q;, ~ '1ft ~

~ cfi f.mA em ~ W~ -;ffll ~ I 3lff: 0'R CfiI

~~cfi~~-awCfil~~~1

4. "3ffi"-vfte ciT~ ~ ~ :

(i) cftllfCfi em -aw--me ~ cfi ~ tlf1Fili4C1 ~ (>f

fen -aw --me cf;?J.ff ~ 1R ~ ~ ~- -;;p:r,

m ~, ~~, ~-~ CfiI"¥<iR ~

f.:rmfto ~ 1R ar.n-ar.n '1ft ~ ~ I

(ii)m~~m~W~-~3l1R
mw~~t5T~t,

5. ~-.cf;~1l~:

~ --me CfiIwWr ~ ~ ~"CIW~"mcT"lFft.rot I
~~,~"lITm1CIG~~~~~~~~

~ -q;, ~ ~ ctiffiT ~ "CIW"mcT"lFft ~ ~ fen ~
~ ~cfi ~ wr -q -;ffll ~ I
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